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Given two terms of an arithmetic sequence,
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Geometric Sequences

Determine whether each sequence is geometric. If so, find the common ratio.
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Find the tenth term of each geometric sequence.
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The deer population in an area 1s increasing. This vear, the population was 1.025 times
last year’s population of 2537.

a. Assuming that the population increases at the same rate for the next few vears, write
an explicit formula for the sequence.

b. Find the expected deer population for the fourth vear of the sequence.
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Find the missing term of each geometric sequence. It could be the geometric mean or
its, opposite.
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Identify each sequence as arithmetic, geometric, or neither. Then find the next two terms.
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Write an explicit formula for each sequence. Then generate the first three

terms. mﬂ _ O\’ ([)V\_}
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Find the missing terms of each geometric sequence. (Hini: The geometric mean of positive
first and fifth terms is the third term. Some terms might be negative.)
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